LFS R¥)HiksE L4

\11
( 41

Az (CRED HEMREHETERA A HIE/TEL: 022-23238126 L H/FAX: 022-24567385



—. HLEBAY4E A5 M (USE SCOPE OF THE MACHINE)
1. 4135 10 £ =45 5 B Fi % (Main features and use)

BIllEENE5Sa RSy LtEEANRE" R, RFIMNEEU. RETE.
SFmA. REFESES. SHEANILBEERIHEL, FEREREETE—
£, BWAHERS, TEATRE. B, ad. BOBLELWHE. HE,
BRRAE, RENEESHO8%.
Qinggong brand conveyor machine is an accessory product of the bag tailoring
series. |t looks nice and it has high quality. It's economical and durable and easy to
mend.Different kinds of noses can be hng on the upright shaft.lt is connected with
the conieyor device. It can be widely used to transfer and seal the cloth,qunny,pastic,
paper bags used in grain,sugar,enterprises,petrochemicalworks and ports.

2. F ERH A& (Main technical data) s®
T {E &% & (Transfer rate) 8m/4>#h(8met )
1 EiEE (Seal rate) 200-400%5(20 bags)
#1875 B (Seal scope) 10-50jsg(10-5 kilograms)
HiEHL4€ B (Conveyor lenght) | 1500-38@8Bmm(1500-3000 millimeters)
i1 5% % & (Conveyor width) @\ZD%D millimeters)

@.ﬂlﬁlﬁ[ElEﬂtnﬂ power) ?— (370-550Watts)

B ER(Gross weight) % -260kg(180-260 Kilograms)
s, ﬂliﬂ‘]ﬁﬁﬁi‘iﬁﬂlﬂﬂ!l%

1.fEA 7 i%(Usage)

MWL NFHEARE 1-'. ﬁﬁ HAHITEAREHETRBPLIENERE, B
Eﬁ]%% ﬁﬁﬁ & ﬁﬂﬁﬂﬂﬂlmﬁﬁh%%—ﬂﬁ%mmﬁo ERIERRE,

D ADJUSTMENT)

Make a routine inSpection before using it if it's new or not used for a long time.And
fill oil into oil filler point.Press the switch to make sure the directions of conveyor and
seal machine are the same.After normalcy 2
make sure they go in the same speed.

2.4k B A& (Adjustment of the nose height)
RAE—DEEFT, EEFEFREN
EQWEHHNL@RIHOH ETiES, &EF
EENTESE.
Loose the screw,turn around the handwheel
to make machine base and nose to go up and
down until it's in a suitable height.




3.HEHR %5 18 ¥ (Adjustment of the stand board height)
ERE-ORT T, #3 4
W2k TiEE, A8
BH TIER EHRER LT
i ¥F,

Turn four handwheels to
adjust the stand board until
a suitable height.Make it flat. é E= £

4. BB B R b 0K R
7, RE=. ABFROE
FRQMITHEIES), EEWH
QaFHEH P EEE, FEESENRNERE,
Adjustment of the belt position and degree of
tightness.Adjust the screw to make the belt in
the middle of the stand board and in suitable
degree of tightness.

5. DA He ¥ 0 R R F 3R A B R AR T
BITRYRIR IR .
AR, GRS PR R T4,
(1Tum the speed handwheel to make suitable speed.

(2 Remember to fill oil before using it . 1% F#8(speed hand whell)
(3Not turn the speed handwheel when it stops.

Y S A, D g

o ——— o | =)
_ﬁﬂ — ]
(Gethesey rob) | REAAEER T M8 =S
\ (Install seamless speed regulated
N electrical machinery if necessary)

REAR
(Stand board)

[ L




o1 ik Pel il % 41 4 9%

decomposition diagram and names of parts

1.3




Jjo

# W

F# (handwheel)

M8Ti £ (M8 pushing screw)

8204/ E 4 (pressure bearing)

£ (bearing cap)

41 (leading screw)

FHHIRE (elenator nut)

M1088£ (M10 screw)

it (upright shaft)

L oINO ;||| -

M1288 £ (M12 screw)

-
o

&% (chassis)

3
e

N [ N R N e e e - R Y







Tt
Jjo

£

Mk (nose)

HkJE#R (nose base board)

#LE (machine base)

RS SZE (electrical equipment box stand)

8% & (electrical equipment box)

£ %8 (thread stand)

Fi3r® (protection cover)

O N DO W MN[—=

FEHLR (electrical machinery board)

w0

—r
o

FBHl (electrical machinery)

M10 X LaR2e (M10 screw)

=k
—k

M6x6 B4 (M6x6 screw)

—
M

MBx 10884 (M6x10 screw)

-k
o

M8x2082 2 (M6x20 screw)

Y
rs

M6Ex4048 22 (M6x40 screw)

a0 |0 [([W| ==t b | =t | b || |







Jjo

& W

TR (flat conveyor belt)

28 (nut)

BHFEE (screw base)

EliN#@<T> (upper arc collar)

EM#EE< > (lower arc collar)

$24TRE (screw stand)

FHEE4EHT (elevator screw)

FHEF3 (elevator handwheel)

#5415 (stand board)

M24828 (M24 nut)

#tR (shield)

M8x20 4 75 75 1 ££(M8x20 screw)

ololZio|leoNlo|o|s win =

M12x20%8 22(M12x20 screw)

oo T N el B = B = I = = N = S I -







10

%

FARIFTZE (delivery roll regulator)

1 2
2 SRIETZEHE (delivery roll regulator board) 2
3 Mi12882 (M12 screw) 2
4 Wi (bearing cap) 2
5 20547 (205 bearing) 2
6 SN H (delivery roll axle ) 1
7 S N1 E (delivery roll sleeve 1) 1
8 W2 (auxilary wheel stand) 4
9 2028472 (202 bearing cap) 4
10 20287 (202 bearing) 4
1 HWENRE (auxilary wheel sleeve) 2
12 RN Hh (auxilary wheel axie) 2
13 ¥4 (support ring) 1
14 A& (bearing box) 2
15 205874 (205 bearing) 2
16 S4EZ (delivery roll stand) 2
17 S48 1 (delivery roll I) 1
18 iff3E B4 (speed regulated elevirical machinery) 1
19 M10x10882£ (M10x10 screw) A
20 M8x 10884 (M8x10 screw) 8
21 M10x354R% £« (M10x35 screw) 8
22 M10x2588 22 (M10x25 screw) 8




11



LFS2M-3M4E 1 H1 BRI E

LFS2M-3M Bag tailoring unit electrcal principle

g N W VvV U
&
Hq ik T
SayBashiEkiteg
SA T v v e e e e - KN L2| MEFR (Bagtaiaring machine
— {Padal switch) automatic control wira)
R = = o £ 1
_________ ] i
: : 4 M =& (yellow wirg) |
. KM1 : :
: { ot . 5 & (green wire) |
' ] l R L— 3 M (black wire) '
: KM e 7 2 {IEkired wire)
i = Ir 1 Z&k(blue wira) |
i r[ L L €] . :
: N7 LN
: Mz ESAREAhERES A
i 3~ {For spacial usa in dotted lina)
finEn W LA LA
(folding meching | {Conveyor balt (Bag talonng machine
wnﬁhlﬁy}l alectrical machinany) alectrical machinary)
L
% L
1.5KHix 1 8 2% E
1.5m-conveyor circuit diagram
R
AT B
T\ EL1
"\\ ®
) AN 9 74
o LN T KMy B2 FR
S i
S ~ 1
] L
o N KM [N FF 22
(Pedal switch)
L i R

12

u (P

WeikemE = &L L
{Convayar balt {Bag talloring machine
electrical machinary}  alectrical machinary)





